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����������	�
���
��
�
��������	��������������  	����
��
�������
��������
� �! �� "#�
�
��������
� �$��%���"#��
��������
� ��$�&��������	����'$% �������(�)(     *�����
��������+�(,����(����	�'���
�$	����$������-��.# (Unit Root Test)  !� ���
 �$�
  
Augmented Dickey – Fuller Test  "#�(,����(����	����
��
����%$���# /���� � ������
���
�����
� �! �� �
��
��������
� �$��%���"#� 	����
��
����%$���# /���� � ������
��������
� 
�! �� �
��
��������
� ��$�&��!� ���
 �$�
���(��������0��)��-� �
� (Cointegration)  ���  

Engle and Granger  "#���� �����%-�(	�$	  Error Correction Model : ECM  �������$�� ���
��
��
����� ��
���1-��-��.0��# /������ � ��  !� +�(,���������	����
��
�����  2  �.�"��
��������#
� �"�#�����
��������
� �! �� �
��
��������
� �$��%���"#� �
��������
� �! �� 
�
��
��������
� ��$�&��������	����'$% �������(�)( !� �
������
�
��
� 
 

  �
��(
� 1  ���(����	����$������
�"��(
��,�������� (Unit Root Test)  !� �$�
  Augmented    

Dickey – Fuller Test 

  �
��(
� 2  �,��
�"��(
�20�����(�����-� �$�
  Augmented Dickey – Fuller Test  "#-���
(����1�	����
��
����%$���# /���� � ������
�"��(
��,�1��)�-��"��+,�#�� !� �$�
  
Cointegration  ���  Engle and Granger 

  �
��(
� 3  (,����(���������
��
����� ��
������
���"#���#
� �(
�"(-+�$�  ������1-��
��
�
��-��.0��# /������ � ��  !� ��� �����%-�(	�$	  Error  Correction  Model  ���  Engle and 

Granger 

  �
��(
� 4  ���(��������$3���%$���4��1����4�2# (Granger Causality Test) 

!� �� #���
 ����"�0#��
�������4��
��
� 
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�
�������� 1   ���������	���
������������������
����  (Unit Root Test) 

  (����	����$�� (Stationary) ����-��.# )�-�
�������0�)��
� 
 

  tRP�  =  t11 �� � 11 �� tRP� + �� �
�
� it

p

i
i RPc

1
t1	   (3.1) 

  tFIX�  =  t22 �� � 12 �� tFIX� + �� �
�
� it

p

i
i FIXd

1
t2	   (3.2) 

  tMLR�  =  t33 �� � 13 �� tMLR� + �� �
�
� it

p

i
i MLRI

1
t3	   (3.3) 

 

!� (
�  tRP , itRP�    	�� �
��������
� �! ��  

        '  ��#� t "#� t-i 

   tFIX  , itFIX �    	�� �
��������
� ��$�&��������	����'$% � 
        ' ��#�  t  "#�  t-i 

   tMLR  , itMLR �   	�� �
��������
� �$��%���������	����'$% � 
        ' ��#�  t  "#�  t-i 

 dc,,,,,,,,, 21321321 ��������  	�� 	0������$����� 
   t1	   , t2	  , t3	    	�� 	0�	���	#���	#�����%$���0�  

   t     	�� 	0�"��!�-� 

 

 ����$3��(
��%-�����(���� 	�� 

 �����(
� (3.1)  :0H  1�   =  0    (Non-Stationary)    

    :1H  1�   <  0    (Stationary) 

 �����(
� (3.2) :0H  2�   =  0  (Non-Stationary)    

    :1H  2�   <  0  (Stationary) 

 �����(
� (3.3) :0H  3�   =  0    (Non-Stationary)    

    :1H  3�   <  0    (Stationary) 

 

  �-�2#(
�)�- ���
�  0H   1�� 	����0� �
��������
� �! �� �
��
��������
� ��$�&�����
���	����'$% �"#��
��������
� �$��%���������	����'$% ��
 .�$(�.(  	��  ��4��-��.#(
��
#
��'�
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�-��.#(
�)�0�$�� (Non-Stationary) "�0�-��5$��� 0H  1�� 	����0�  �
��������
� �! �� �
��
���
�����
� ��$�&��������	����'$% �"#��
��������
� �$��%���������	����'$% �)�0�
 .�$(�.(  	��  

��4��-��.#(
��
#
��'��-��.#(
��$�� (Stationary) 

 

 �
�������� 2 ���	
��������	���
�!
����"
��#��$�!%�������	 (Cointegration) 

  �
����������(���� cointegration �
�
��0�)��
� 
  1.  (�����
�"����"��+,�#���0��
#
��'���4� non-stationary 1���)�0 !� �%-�$�
 ADF 

test !� )�0�-����0	0�	�(
� "#�"��!�-������#� 
  2.  ��������'��������� �-� �$�
�,�#
�����-� (
���� (ordinary least square: OLS)  

  3.  �,��0��(
��1#�� (residuals) (
������')�-+���-� 2 ��(�����0��
#
��'��$��1���)�0 *���
��4����(�����0��(
��1#��  (residuals) �
��0�)��
� 
 

   tê�  = 1ˆ �te
  + tv      (3.4) 

 

!� (
�  tê , 1ˆ �te   	�� 	0� residual ' ��#� t "#� t-1 (
��,���1���������� �1�0 
   
    	�� 	0������$����� 
   tv   	�� �-��.#��������#�����
�"����0� 

����$3��(
��%-�����(���� cointegration �
��
� 
  0H  :  
   =  0  ()�0�
	����
��
����%$���# /���� � ��) 

  :1H  
    <  0  (�
	����
��
����%$���# /���� � ��) 

  ���(��������$3�� !� ���
 ��(
 �	0� t-statistics (
�	,���')�-+���
����0����� 



 ˆˆ / .E.S  )����
 ��(
 ��
�	0�������� ADF Test *����-�	0� t-statistics �����0�	0��$�6�$ 
MacKinnon (MacKinnon critical values) ' ���
��
 �,�	
7 +���5$�������$3�� �
��
�� �0��
��	-��1����0��(
��1#�� (residuals) �
#
��'��$�� (stationary) 1��� I(0) "#-�"����0� �
�"���

	����
��
����%$���# /������ � ��  

  � 0��)��8����-��0����	-��1����0��(
��1#���������� (3.4) )�0��4� white noise �8+��%-���
(���� ADF test "(�(
�+��%-����� (3.4) *���+��%-����� �
��
� 
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  tê�  = tit

p

i
it vece ��� �

�
� � ˆˆ

1
1
    (3.5) 

  tû�  = tit

p

i
it udu �� ��� �

�
� � ˆ

1
1    (3.6) 

 

 ����$3��(
��%-�����(���� 	��  

  �����(
� (3.5)  0H  :  
   =  0 (Non-Stationary) 

      :1H   
   <  0 (Stationary) 

  �����(
� (3.6)  0H  :  �   =  0 (Non-Stationary) 

      :1H   �   <  0 (Stationary) 

 

  �����(,����(���� .�$(�.("#-�  ���0�  2#���(���� ���
�����$3��1#
�  ����������
)�-�0�  �-��.#�
���
#
��'�  Non-Stationary  1����
 .�$�.(�
�����  "�01��2#���(�����5$���
����$3��1#
�  "����0�  �-��.#�
���
#
��'� Stationary  1���)�0�
 .�$(�.(  

  1��	0����	���	#���	#�����
#
��'��$��  (Stationary)  �8	��  I (0)  ����������)�-�0��
���
�����
� �! �� (RP t) "#� �
��������
� ��$�&��������	����'$% � ( tFIX ) �
	����
��
����%$�
��# /���� � ��  "�0�-�	0����	���	#���	#�����
#
��'�)�0�$��  (Non-Stationary)  �8	��  I (1)  

����������)�-�0��
��������
� �! ��  ( tRP ) "#� �
��������
� ��$�&��������	����'$% � 
( tFIX )  )�0�
	����
��
����%$���# /���� � �� �%0���
 ��
��-� 1��	0����	���	#���	#�����

#
��'��$��  (Stationary)  �8	��  I (0)  ����������)�-�0��
��������
� �! �� ( tRP ) "#� �
���
�����
� �$��%���������	����'$% � ( tMLR ) �
	����
��
����%$���# /���� � ��  "�0�-�	0����
	���	#���	#�����
#
��'�)�0�$��  (Non-Stationary)  �8	��  I (1)  ����������)�-�0��
��������
� 
�! ��  ( tRP ) "#� �
��������
� ��$�&��������	����'$% � ( tMLR )  )�0�
	����
��
����%$�
��# /���� � �� 

 

 �
�������� 3 ���	
��������	���
�!
����"
��#��$�!%������
�� (Error Correction Mechanism) 

  �����(����)�-�0��-��.#(
�������
	����$�� �0�)�+��$�	���1�!� �%-"��+,�#���������	���	
%
� (ECM) 	�� �#)������
��
���-��.0��# /������ ��
�����  �
��������
� �! ��  ( tRP ) "#� 

�
��������
� ��$�&��������	����'$% � ( tFIX )�
��������
� �$��%���������	����'$% � 
(MLRt) 
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  tRP�  = t

p

i
itijt

q

j
jt RPFIXe 1

10
11 ˆ 	�
� ��

�
��

�
� �����   (3.7) 

  tFIX�  = tnt

k

n
n

r

m
mtmt FIXRPu 2

10
12 ˆ 	��� ����� �

��
�� ��   (3.8) 

  tMLR�  = tnt

k

n
n

r

m
mtmt MLRRPu 3

10
13 ˆ 	��� ����� �

��
�� ��   (3.9) 

  tRP�  = t

p

i
itijt

q

j
jt RPMLRe 4

10
14 ˆ 	�
� ��

�
��

�
� �����   (3.10) 

!� (
�     tRP    	�� natural logarithm  ����
��������
� �! ��   

      ' ��#�  t 
   tFIX   	�� natural logarithm  ����
��������
� ��$�&��������	����'$% � 
       ' ��#�  t 
   tMLR   	�� natural logarithm  ����
��������
� �$��%���������	����'$% � 
       ' ��#�  t 
  4,3,, 21 ����  	�� 	0�	�����8��������
��
���-��.0��# /���� � �� 

   j
 , m�  	�� 	0�	��� ��1 �0��� ��
�� 

   i� , n�   	�� 	0��
�����$(�$9���2#����
�"����� 

   11 ˆ,ˆ �� tt ue  	�� �+�����  Error Term  

   tt 21 ,		   	�� 	0�	���	#���	#��������
�"����0� 

 �����  1ˆ �te   = 1101 �� �� tt XY ��  

   1ˆ �tu   = 1101 �� �� tt YX ��  

   t1	 , t2	   	�� 	0�	���	#���	#���� 

����$3��(
��%-�����(���� �
�
��
� 

  1.  0: 10 ��H  ()�0�
	����
��
����
����� ��
��) 

    0: 11 ��H  (�
	����
��
����
����� ��
��) 

  2.  0: 20 ��H  ()�0�
	����
��
����
����� ��
��) 

    0: 21 ��H  (�
	����
��
����
����� ��
��) 
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  3.  0: 30 ��H  ()�0�
	����
��
����
����� ��
��) 

    0: 31 ��H  (�
	����
��
����
����� ��
��) 

  4.  0: 40 ��H  ()�0�
	����
��
����
����� ��
��) 

    0: 41 ��H  (�
	����
��
����
����� ��
��) 

 

  �����(����"#-����0�  2#���(���� ���
�����$3��1#
� 0H   ����������)�-�0�  �
���
�����
� �! ��  ' ��#�  t ( tRP ) "#� �
��������
� ��$�&��������	����'$% � ' ��#�  t  

( tFIX ) )�0�
	����
��
����
����� ��
��  "�0�-�2#���(�����5$�������$3��1#
� 0H  

����������)�-�0�  �
��������
� �! ��  ' ��#�  t ( tRP ) "#� �
��������
� ��$�&��������	��
��'$% � ' ��#�  t  ( tFIX ) �
	����
��
����
����� ��
�� �%0���
 ��
��-�2#���(���� ���
�
����$3��1#
�  0H   ����������)�-�0�  �
��������
� �! ��  ' ��#�  t ( tRP ) "#� �
���
�����
� �$��%���������	����'$% � ' ��#� t ( tMLR ) )�0�
	����
��
����
����� ��
��  "�0�-�2#
���(�����5$�������$3��1#
� 0H  ����������)�-�0�  �
��������
� �! ��  ' ��#�  t ( tRP ) 

"#� �
��������
� �$��%���������	����'$% � ' ��#�  t   ( tMLR ) �
	����
��
����
����� ��
�� 

 

�
�������� 4 ������������
&���"
��'*����#�'*�+�  (Granger Causality Test) 

  �$�
(���� 	�� �
�
�"��� .0 3 �
�	�� �
��������
� �! ��  (RP) "#� �
��������
� ��$�&��
������	����'$% � (FIX)  "#��
��������
� �$��%���������	����'$% �(MLR)��#
��'�(
���4�
�-��.#��������#�  �-������#
� �"�#����  RP  ��4��-��1����������#
� �"�#�  FIX  "#-�  RP  �8
	��+���$������0��  FIX  �
��
��  �-�  RP  ��4��-��1��(
��1-��$������#
� �"�#���  FIX  ������)�  2  

������+��-����$����� �%0���
 ��
�  �-������#
� �"�#����  RP  ��4��-��1����������#
� �"�#�  

MLR  "#-�  RP  �8	��+���$������0��  MLR �
��
��  �-�  RP  ��4��-��1��(
��1-��$������#
� �"�#�
��  MLR  ������)�  2  ������+��-����$����� 

  !� �%-���(�������������   2  ������
��
� 
 

  tFIX  = int

k

n
n

r

m
mtm uFIXRP ���� �

��
� ��

11
��   (3.11) 

  tFIX  = int

k

n
n u�� �

�
� FIX
1
�     (3.12) 
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����$3��(
��%-�����(����	�����4�"1����4�2# �
��
� 
 

   0H  : �
��������
� �! �� )�0��4����1������
��������
� ��$�&��������	����'$% � 
   0H  :  1 2 ... 0r� � �� � � �  

   :1H  �
��������
� �! �� ��4����1������
��������
� ��$�&��������	����'$% � 
   :1H   0H )�0��4�+�$� 

  

!� (
���$�$(����+���4���$�$ F (F statistics) �
��
�    

    �-�����5$���   0H  �81�� 	����0�  �
��������
� �! ��  (RP) ��4��-��1��������
��#
� �"�#��
��������
� ��$�&��������	����'$% � ( FIX )  ��(,������
 ��
�  �-�����-�����
(��������$3��  �0������#
� �"�#�����
��������
� ��$�&��������	����'$% �)�0)�-��4�
�-��1����������#
� �"�#��
��������
� �! ��    ����8+��-��(,����������(����� 0��
��
 ��
��-���-�  ��
 �"�0�0�  �#
���#
� �"��+,�#���-���-�  +��  RP  ����4�  FIX  "#�+��  FIX  

����4�  RP  �
��
� 
 

  tRP   =  �� �
�

�
�

�� mt

k

n
nmt

r

m
m RPFIX

11
��  ui   (3.13) 

  tRP  =  ��
�
� nt

k

n
i RP

1
�  ui     (3.14) 

 

  ��
 ������  (3.13)  �0�  ������� (
�)�0��0�-�+,��
�  "#������  (3.14)  �0�  ������� (
���0
�-�+,��
�  "#��%-��$�$(����� 0����
 ��
�  	��  ��$�$  F  (F statistics) 

 ����$3��(
��%-�����(����	�����4�"1����4�2# �
��
� 
   0H  :  �
��������
� ��$�&��������	����'$% �)�0)�-��4����1������
��������
� �! ��     

   0H  :  1 2 ... 0r� � �� � � �  

   :1H   �
��������
� ��$�&��������	����'$% ���4����1������
��������
� �! ��     

         0H :  0H )�0��4�+�$�  

 

   �%0���
 ��
�  �-�����-�����(��������$3��  �0������#
� �"�#�����
��������
� 
�! �� )�0)�-��4��-��1����������#
� �"�#��
��������
� �$��%���������	����'$% �   ����8
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+��-��(,����������(����� 0����
 ��
��-���-�  ��
 �"�0�0�  ��#
� ��
�"�#�-���-�  +��  FIX  

����4�  MLR   

  tMLR  = int

k

n
n

r

m
mtm uMLRRP ���� �

��
� ��

11
��    (3.15) 

  tMLR  = int

k

n
n uMLR �� �

�
�
1
�      (3.16) 

 

 ����$3��(
��%-�����(����	�����4�"1����4�2# �
��
� 
 

  0H : �
��������
� �! �� )�0��4����1������
��������
� �$��%���������	����'$% � 
       0H  :  1 2 ... 0r� � �� � � �  

  :1H  �
��������
� �! �� ��4����1������
��������
� �$��%���������	����'$% � 
  :1H   0H )�0��4�+�$� 

!� (
���$�$(����+���4���$�$ F (F statistics) �
��
�    

  �-�����5$��� 0H   �81�� 	����0�  �
��������
� �! ��  (RP) ��4��-��1��������
��#
� �"�#��
��������
� �$��%���������	����'$% � ( MLR )  ��(,������
 ��
�  �-�����-�����
(��������$3��  �0������#
� �"�#�����
��������
� �$��%���������	����'$% �)�0)�-��4�
�-��1����������#
� �"�#��
��������
� �! ��    ����8+��-��(,����������(����� 0��
��
 ��
��-���-�  ��
 �"�0�0�  �#
���#
� �"��+,�#���-���-�  +��  RP  ����4�  MLR  "#�+��  MLR  

����4�  RP  �
��
� 
  tRP   =  �� �

�
�

�
�� mt

k

n
nmt

r

m
m RPMLR

11
��  ui   (3.17) 

        tRP              =  ��
�
� nt

k

n
i RP

1
�  ui     (3.18) 

  ��
 ������  (3.17)  �0�  ������� (
�)�0��0�-�+,��
�  "#������  (3.18)  �0�  ������� (
���0
�-�+,��
�  "#��%-��$�$(����� 0����
 ��
�  	��  ��$�$  F  (F statistics) 

����$3��(
��%-�����(����	�����4�"1����4�2# �
��
� 
  0H :  �
��������
� �$��%���������	����'$% �)�0)�-��4����1������
��������
� �! ��     

    0H :  1 2 ... 0r� � �� � � �  

        :1H �
��������
� �$��%���������	����'$% ���4����1������
��������
� �! ��     

  :1H  H0 )�0��4�+�$� 


